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Actual relationship between & and Y

y = f(z) +e



Estimate of Yi = ¥;

Yy; = Po + B1T;



Fstimate of 81 = 51

2. (i — Z)(yi — 7)

(R S Py




Estimate of Bo= BO

Bo =9 — B1T



Degrees of Freedom

Degrees of Freedom = (Number of observations) - (Number of parameters in the model of the means)



Standard Deviation Estimate

o =

\/ Sum Of All Squared Residuals

Degrees of Freedom



Variance of &

> (zi — @)’

n — 1



Standard Error of Bl




Standard Error of 3,




t-Statistic of parameter estimate

A

t — statistic = 6];
SE(B;)

t — statistic = BOA
SE(fo)

B1

t — statistic =

SE(B1)



Confidence interval of parameter estimate

B — £0.025, df X SE(B1)

B1 + £0.025, df X SE(B1)

AN AN

B1 £ to.025 ar X SE(B1)

A A Bo — £0.025, df X SE(By)
Bo % to.025. a5 X SE(Bo)

A AN

Bo + to.025. a5 X SE(Bo)




Analysis of Variance - Mean Square Error

RSS (Restdual SumO fSquares)

MSE =
DFE (DegreesO f Freedom Residuals)

2
RSS (ResidualSumO fSquares) = Z(yz — ?)z)

DFE (DegreesO f FreedomResiduals) = n — 2



Analysis of Variance - Mean Square due to
Regression

SSR (SumO fSquaresRegression)

MSR = :
DFR (DegreesO f FreedomRegression)

SSR (SumO fSquaresRegression) = Z (9 — 3?)2

DFR (DegreesO fFreedomRegression) = 1



Analysis of Variance - Mean Square Error

- Mean Square due to Regression (MSR)
B Mean Squared Error (MSE)




R? Statistic



